AER S/ RXZFaRIELSE(GOT/AST)IRFIZIRAAH
( WRE 96 #)

BN FZEII:II:I%’{I\

RERBRBELHR, BHRAREEER, 4558 AST 8L GOT (EC 2.6.1.1) | iZf71E
T WY WEEVIRR IR, AR RS N, R SRR 1) .

B HLF R X RIRE L 5 A GOT/AST) AL K I T4 Z R Mo 7] [ R & AE i ik
RN, FRRARBRMER O, OB — 2 BT MR RAEER; AR5 2,4-
TR IR S R AR B 2,4- TR B OR I, FEBRME A P BARLL A AR 520nm BEUROE
{EIETHE BB 1K
—. WFIZEKAECH :

AR HA TRAFELR
PEHUK WifA 100mLx1 K 4°CLRAT
WA — Witk 4mLx1 K 4oCIRAT
WA= WAk 4mLx1 3 4°CIRAT
A= WitA 40mLx1 4oCIRAT
PRI Kk mgx1 32 4°CLRAF

=. FrEREMAS:
BEARAX . 96 FLAR . /KIBHRAEIRRT TR BNE.ONL. nTREE R Es . BFEE.
M, AEESEH/RXLEBREELSE(GOT/AST)EMENE :
BIE ST AN 2 MERMFUNE, THRAMERER, HESWRE, BHLw
HEAFIRFRER!
1. HXHIE:
O HLREA:
2y 0.1g 2H2Y, o ImL $2H0GHK, #A70KHB 219K . 12000rpm, 4°CE.C> 10min, HU_E
H, BUK R,
CE): HmeEAR, TRBALRE QR F—ARmL)A 1:5~10 AELHIHZEL.
@ /R
S AN B B AR B B N, B R SR B B 500 4 E s A NN ImL SREU,
R I RO AT T BR AT B (UK, ThER 200W, 87 3s, [A]B% 10s, & 30 ¥&X); 12000rpm,
4°CE .0y 10min, B LiE, BEIUK AR,
GE): SmaEAs, TiRREEsmmiE 10 N ARBURIART(mL)% 500~1000:1 AIELHHSE.
@ IMiF RO FEA: BN, F57EM, 8205 BRCEFREm.
2. EHUNZE:
© BEARMX T 30min BA_E, EFTEK S 520nm.
@ Aol 2 AMFEARTI G, PRERAEDRE, JRIRHEIH MBOGE A 2 75 HARHE 261

St Y R Al 52
(3 1 96 FLB KK -

AR (ul) e & X HEE
FEAR 10
Wi — 20 20

B2), T 37°CHFE 30min

W= 20 20
FEAR 10




V2], T 37°CHEE 10min
= | 200 | 200
V5], 25°CH$HE 10min, T 520nm AL G1E A,
AA=A ME-A X CBRENFEARM— S EH S5HD.
[E] 1.5 ANERST 1.2, AIFREHEAE VI (30 5uL, B Sul AZEEKANST, ST 100l R
EE) . MKEFHIMEAETR VI ERNTELARERITE.
2ENAA WEEEHHEAME, MAHEMERE V1 (40 1500, WEKFI—HRRD), siEmiER
MRS (W), NXEEHMERRR VI MEERE W ERNTEAREHITE.
. BHRITE:
1. FRAEMZE S FE: y=0.0239x +0.0016, x AbsHEMSE/RFE (nmol); y /&AA.

0.6 -
0.5 A y =0.0239x+0.0016
R?=0.9967

0.4 A

03 A

OD 520nm

0.2 4

T ammam

2. HREARERAKRETE:

By e X s AU AR BHE =42 1 nmol PIEHER & SN —ANBEE 1 5407
GOT/AST(nmol/min/mg prot)=[(AA-0.0016)+0.0239]+(V1xCpr)+T=139.5x(AA-0.0016)Cpr
3. IUFEAREEE T

BiavE E X B2V 0 B EAL S A 1nmol TR ERER & XN — TS 11547 .
GOT/AST(nmol/min/g ¥ #)=[(AA-0.0016)+0.0239]+(WxV1+V)=T=139.5x(AA-0.0016)=W
4, FRYNTH B0 B 2 B vh

By e e B 1 540 SO0 B B AL 72 A2 Inmol PR IR R 2 XN — /MBS /7 54
GOT/AST(nmol/min/10* cell)=[(AA-0.0016)+0.0239]+(500xV1+V)=T=0.28x(AA-0.0016)

5. g GO &1

BvE e X BETHGE R BB = Inmol NEHER & SUN—ANEFIE 71500
GOT/AST(nmol/min/mL)=[(AA-0.0016)+0.0239]+V 1= T=139.5x(AA-0.0016)

V-2 UB AR, 1 mL; V1--- R R P AEAAAR, 0.01mL:

T---J S [E], 30 min; W--- PR, g 500---Z0 fE B AN B S A, U

Cpr— AR K E, mg/mL ; BUFHALNT BCA & 15 & &llE il faE.

Bt A it 2R i I R

1 Hl&ARHES R (20pumol/mL): I ImL Z&TRZKIE PR AES, 7R .

2 JERERARRER L IR 0,0.4,0.8, 1.2, 1.6, 2umol/mL. -t AT A4k S brofe i S 1 .

3 10uL ARk Sh+20ul 3R —+20ul iR 7 =, JEE, T 37°CHEE 10min ; F 0 200uL
WA=, V85, 25°CH¥HE 10min, T 520nm AWEMRGIE A, 4 45 5L R0 AT Hi 4 br
HEh 2k




